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G2-Mi-Lesson 7

Take from 10
{ can solve without \\
1. 12-9=23 /1\2\_'9 = 3 drawing toa! | can break
T _ apart 12 into 2 and 10.
-is i can draw 12 and show how | will 2 10 Now, it is easy to take 9
¢ take 9 from 10. 10-9=1 from 10. 10-97s 1. And
Now | see 1 and 2 left, which is 3. P 4 =3 then [ just add whatis
; Sol1l2 -9 =3, left. 2+ 1is3.
S0,12-9is3.
2. 14—-8=6

10—-8=2

And adding
what is left is
easy
because

| know my
refated facts.

First, take

subtract
from 10.

3. Shane has 12 pencils. He gives some pencils to his friends. Now, he has 7 ieft. How many pencils did he
give away?

12-7=35 | can use this strategy to solve word N
/ \ problems, tool
Z 10
ip-7=3
— | know the whole and a part. Thatmeans a
3+2=5 P
. é o part is missing! | can subtract to find how
Shane gave away 5 pencils. o O many pencils Shane gave away.

EUREHKA tesson7: Take from 10 within 20. 9
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